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Oct 02 Paper 4
D

NOT TO SCALE

8cm

The diagram shows a sketch of the net of a solid tetrahedron (triangular prism).
The right-angled triangle ABC is its base.
AC=8cm, BC = 6cm and AB = 10cm. FC=CE=5cm.

(@ (O Show that BE=6lcm. 1
(i) Write down the length of DB. [13
(ili) Explain why DA =89 cm. ; [2]
(b) Calculate the size of angle DBA. C [4}
(¢) Calculate the area of triangle DBA. ' [31
(d) Find the total surface area of the solid. : ‘ 3]

(e) Calculate the volume of the solid.
(The volume of a tetrahedron is % (area of the base) X perpendicular height.] _ 3}

May 03 Paper 4

NOT TO
SCALE

In quadrilateral ABCD, AB =77 m, BC = 120 m, CD =60 m and diagonal AC =55
Angle CAD = 45°, angle BAC = x° and angle ADC = y°. y ™

{a) Calculate the value of x, [4]
{b) Calculate the value of y. 3

{¢) The bearing of D from A is 090°.
Find the bearing of '
 Afomc, | 2]
(ii) B from A. . (2]



